000 (U 0Hyoouououououououoouod
OO0 PDFOODOOOOOOOOOODOOOOOO
https://www.100test.com/kao_ti2020/648/2021 2022 2009 E5 B9
B4 E4 B8 c49 648155.htm 0 000000 (060000 O 10
Jo0odoboooooboliooooon)l.oddid o
Jolrodooodz0ododswdodooooooon
Jod0odooooo3ododo(Fd PO 8% 3)=1.26001
JodoOs0dododoooood 0odAQds12.08
[11663.2C0 18144D0 182950 0 00 cCco o oz20 00
00O 00=Px nx i=1200x 2x 10%=2400 D 0200000 O
0 0=1200240=14400 0 0500 0000O00O=Px (FOP
[18%[] 3)=1440x 1.260=18440 00000 0O0OOOOO
Jo0odobooooooooory-802.0 000100000
Jdodobooooouooooboooboooa?2d
J@uooO)yoobooooooooooo@Woooo
O)H)dewdlODODooooooooooooooouoooo
Jododododouououon ODODOADe6.67B
[168.67CL 76.65D 8067 U O LUADDOOOOONOOO
OO000A=ix POOOP=i/A=2/6%=33.330 0000000
OO000000000=100-33.33=66.670 0 0000000
JodododouououoooooprPoosoooon
O0i1=10%0 000001240 0 0 0i2=15%0 0 0 O O
O30 000000odoodoooon ogA
[110.875%B0] 13.875%C0 12.875%D0] 11.875%01 I 0 O O B
OO00000000r=10% (15%-10%)*[124/(124 36)=13.875%
JodododouodououooooouooaPis



40000 dooz200doogoz200b0ognn
2000000650 0000000000500 000
0 000020%0 000 (P/AD 20%0 20)=4.869611 (P F
[120%0121)=0.02170 0000000000 OD0O0OA
[12.57B00 3.23C1 3.52D 430 0 0o cnonooogn
00000020000 P1=A0 P/A,20%,2000 =6.5

x 4.8696=31.65240 1 0 0 0O 00O OO O P2=P1/(1
)=31.6524/120%=26.377/0) J O UJ OO O O O P3=F(PU FLI 20%
[121)=6.5% 0.0217=0.1410500 OJ OJ OO OJ 0 =26.377
0.14105-23=3.20 OO0 oo odoodoooogn
gopPbs0000oodoodoooodoodogd
Jo0o0dood oAb bogosgoooodoogn
JgchtbtubouououobbuouooooonoAbdd
Jubotdbogtdbtobotdbootdbtgtobotdbotdogd
Juotdbootdbotobbotdbootdbototbobotobotdogd
JrPsel bbb odn ogAtd
JdooBpoobodgboogcoogoopbboodogd
oAU O0D0O0Oooooooodoogogboognod
Joodoodoooodoodoooodgoodogd
Joodoodoogogpesst7oddoonoogdnon
1560000 O O43000 026800 OO0 OOOOMOO0.2
go3tostuguoboobooboobooboogodoA
[13650B0 3750C0 3880DL 3980l L D L BU O OO U OO
0000 0O =5600x 0.24300x 0.32680x 0.5=375001 0O I 00 O [
oottt otdogd
gopsus o iodoododdotnldtnsoo00



OO0O000000e000d /0000000120000 00000
Oopooscot 0dddooooooobobooooonod
O000 00000 AD 1400B0 1650CH 2100D0 240001 O O
OO0DOOOOOP*=0FVQU /Q=120000 I /5000000 =2400
O/0000000000000000000000000
OprP4a0UOO00O0OCOOOOOUOOOOADOOOOBOOO
OJocUtuougagpuddooooooobuooobobnd
ODO00doooooooooooooooboonoooon
OO000000OpP4sO10 0000000000000
O O00A00O0OO0ODOOOOCOCOBOOOOOOOOOOCO
ODoo0o0o000ooDbObooOoououooooononoooc
O0000o0o0oo0o0000oooooooooonoooon
O00dooooooooooooooooonooogn
(0 O O P4700 #000000>#000000>#ffffff>#000000> 100Test (1 [1 [
OD00ooooooboonoooooooon
www.100test.com



